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A -84 g9 - AR - T o 4k oH 714 oAkl H] 157k W=7
= 575,260 557,700 17,560
A 575,260 557,700 17,560
A 5 sS4 7 537,420 519,860 17,560
A =T s 270,420 267,860 2,560
LFAAANT = 184,794 182,514 2,280
101 Q171H] 76,794 76,514 280
76,794 76,514 280(10 7|ZALZA SRS 280
07125 176
OAlg Bz (23})
774 10,101,0009 - 714 9,925,000 = 176
0= 58
OA Bz (23)
737 3,367,0009 - 7174 3,309,000¢= 58
OFF3 36
OA g Bz (23)
77 2,020,200 - 717 1,985,0009= 36
Odzk42 10
OAlg Bz (23})
A 583,000 - 714 573,000 = 10
201 Lk 38,500 36,500 2,000
8,000 6,000 2,000|01 AR H] 2,000
O nkag-n] 2,000
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75,000 60,000 15,000]04 A]AdH] 15,000
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O A n] aLA] = 5,000
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